PAGE 1 OF 7

KINGSTON QUEEN BED




PAGE 2 OF 7

Part List

A Headboard 1

B Footboard 1

C \ Side Rail 2

D \ Center Rail 1

E Support Leg 2
16 pcs

F Roller Slat 1

G Footboard 1
Drawer

H Side Rail 2
Drawer

| @ Side Wing 2




PAGE 3 OF 7

Hardware List

1 JCBCM6X30 | 8
2 Ormmm JCBC M6X45 12
3 JCBCM6X50 | 4
4 O JCBC M6X60 2
5 / M4 X 65 1
6 — CSKM4X25 | 1
7 gmmms  CSKM4X32 | 32
s @ e |
3 M6 FLAT WASHER | 24

10 & ADJUSTER | 2




PAGE 4 OF 7

o
©
atch the|labgl!
BACK VIEW

STEP 1:

STEP 2:




PAGE 5 OF 7

STEP 4:




PAGE 6 OF 7

STEP 5:

5 to 8 mm distant away from the floor.

Important : If the bed is not sitting on
carpet, please make sure you have a non-slip
mat under all the support legs.

Fully tighten bolts to secure side
rails to headboard and footboard

Attention : Please ensure that (6) screw is being
attach as per the A.l shown to avoid base being
collapse.




PAGE 7 OF 7

This assembly required 2 people to avoid personal injury or
damage to the bed which will not be covered by warranty.




